EXAM 4 
Chapter 07 & 09 Review Questions (2013)
1. Examples of nonvolatile storage media include all of the following except _____.

2. Storage devices access items in _____.

3. Transfer rates for disks are stated in _____.

4. A disk with a higher density has _____ storage capacity.

5. Current personal computer hard disks have storage capacities from 160 to 2 _____ and more.

6. If the computer contains only one hard disk, the operating system designates it as drive _____.

7. A _____ is a vertical section of track that passes through all platters on a hard disk, such as that shown in the accompanying figure.

8. While the computer is running, the platters in a hard disk (such as that shown in the accompanying figure) usually rotate at _____, which allows nearly instant access to all tracks and sectors.

9. A _____ occurs when a read/write head touches the surface of a hard disk platter, such as that shown in the accompanying figure, usually resulting in a loss of data and sometimes loss of the entire drive.

10. The primary advantage of the _____ interface is the cables are thinner, longer, more flexible and less susceptible to interference.

11. Some manufacturers market their _____ controllers as Fast ATA or Ultra ATA.

12. Manufacturers measure the speed of all optical disc drives relative to the original CD-ROM drive, using an X to denote the original transfer rate of 150 _____.

13. Manufacturers state the speeds of CD-RW drives in this order: _____.

14. A storage technique that a DVD-ROM can use to achieve a higher storage capacity than a CD-ROM is to _____.

15. One of the first storage media used with mainframe computers was _____.

16. All of the following use direct access except _____.

17. The use of microfilm and microfiche provides all of the following advantages except _____.
18. A type of communications device that connects a communications channel to a sending or receiving device is a _____.

19. _____ is a conversation that takes place over the Internet using a telephone connected to a computer. 
20. A _____ is a wireless network that provides Internet connections to mobile computers and other devices.
21. A GPS receiver is a handheld, mountable, or embedded device that contains all of the following except a(n) _____.

22. A _____ is a Web application that combines services from two or more sources, creating a new application.   

23. A _____ is a network that connects computers and devices in a limited geographical area, such as a home, school computer laboratory, or office building.

24. Each computer or device on a local area network, called a _____, often shares resources such as printers, large hard disks, and programs.
25. Network _____ refers to the layout of computers and devices in a communications network.   

26. On a _____, all of the computers and devices (nodes) on the network connect to a central device.

27. On a star network, the central device that provides a common connection point for nodes on the network is called the _____.
28. A _____ is a standard that outlines how two network devices communicate. 
29. Today, _____ is the most popular network standard  for LANs because it is relatively inexpensive and easy to install and maintain.

30. _____ has been adopted as a network standard for Internet communications.

31. When a computer sends data over the Internet, the data is divided into small pieces, or _____.

32. The technique of breaking a message into individual packets, sending the packets along the best route available, and then reassembling the data is called _____.
33. ______ is a network protocol using short range radio waves which requires devices to be within 10 meters.   

34. ____ is a protocol that uses radio signals to communicate with a transponder.   

35. The most popular T-carrier line is the _____.

36. A T3 line is _____.
37. Some experts predict that _____ lines eventually will become the Internet standard for transmission.

38. A ___ forwards data packets to their destination using the fastest available path.   

39. For best performance of a communications channel, _____.

40. Fiber-optic cables have all of the following advantages over cables that use wire except _____.

